
Crossword 33 Answers 

1. Copper 

2. Leukocytes 

3. Hardeep Puri 

4. Anil Manibhai Naik 

5. Maach 

6. Cell walls 

7. China 

8. Marshall Islands 

9. Lithium 

10. Venkaiah Naidu 

 

Puzzle 32 Answer 

In the above table middle number of each row is equal to half of the sum of the other numbers in 

the respective row. 

So, sum of other numbers of middle row is 

6+1+2+3+3+1=16 

Half of 16 is 8. 

So, answer is 8. 

 

Sudoku 68 Answer 

 

1 5 9 8 7 3 6 2 4 

4 6 2 5 9 1 3 7 8 

8 3 7 2 6 4 1 9 5 

7 2 1 4 8 9 5 6 3 

5 4 6 3 2 7 8 1 9 

3 9 8 1 5 6 2 4 7 

2 1 3 7 4 5 9 8 6 

9 7 5 6 1 8 4 3 2 

6 8 4 9 3 2 7 5 1 
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